Paper 2A
Accounting Module

SECTIONA
QUESTION 1
M,
: Rental income .
3020 Details $ 2020 Details S
1 31 Dec Profit and loss (F) (G) 806 000 | 1 Jan Balance b/d (A) 130 0gg
2Apr  Bank(B) (€)39000p |
31Dec  Balance ¢/d (D) (E) 286 00p !
806 000 806 00 ]
—_— %‘9‘_
— = Repair and maintenance expenses
31Jan B:nti“s ol i L .
- { . o (1) 15 600 | 1Jan Balance b/d (H) 10 409
15
. s g)) - 233 31 Dec Profit and loss (M) (N) 67 600 }
0.5 310ct Bank () 18 720
1 31Dec Balance c/d (K) (L) 12 480
78 000 78 000




UEST]ON 2
o Liiind Cash st bank
5 59",‘;” T 2020 Dec s
pividend income 43 520|Balance b/d 5629
2472 Electricity expenses 2830
Bank charges 125
Fa.rmy Cumpa.ny 7210
Balance ¢/d 30198
45992
A B o
e —=atk reconciliation statement as at 31 December 2020
, IS
Adjusted balance as per cash at bank ac 3
Add: Unpresented cheque - 321012 count 30 198
12 400
Less: Uncredited deposit - Kj : 42 598
- L .
Balance as per bank statemen:ly il 3510
39 088
e
Alternative answer:
Bank iliati
reconciliation statement as at 31 December 2020
Balance as per bank statement $
Add: Uncredited deposit - Kitty Limited 39 088
3510
Less: Unpresented cheque - 321012 42 598
Adjusted balance as per cash at bank account 12 400

(©) B realisation principle

30 198
=

- revenue s i i
hould be recognised only after the services have been provided, so the receipt from

Fanny Company should not be recorded as revenue in 2020
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QUESTION 3 Mary,
= )
Direct material cost
Direct labour cost
Fixed manufacturing overhead costs
Production cost per unit 1
@)
Selling price
Less: Variable costs
Direct material cost
Direct labour cost
Selling expenses
Contribution margin per unit 1
Contribution margin per sales mix of paddles and kayaks:
($50x 2) + $170 = $270 per sales mix 1
3)
(p) Contribution margin required for surfboards = ($120 000 + $120 000 + $960 000) - (3 000 x $270)
= $390 000 1
Sales quantity of surfboards next year = $390 000/ $200 per unit
=1 950 units 1
)
(c) Contribution margin required for paddles and kayaks = (§1 200 000 + $270 000) - (4 920 x $200)
= $486 000 2
Quantity of sales mix of paddles and kayaks = $486 000 / $270 per sales mix = 1 800 sales mix 0.5
Sales quantity of paddles = 1 800 sales mix x 2
=3 600 units 0.5
)
WO
8 marks
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.

Discount Cash Boo
) 7o s CSh Bank :
S

$ 2021 Discount Cash Bank
| Balanee b/S 18 500 s %
‘ h{:!r 2 Trade receivables- 280 Mar 1 Balance b/d 800
A
ll M 1;/:;:3? 5320 |Mar3 '{rt_'ade payables- 4, 2 400
My 10 rade receivables - 12100 |Mm ey 14 400
g T 3240 ar6 Purchases
M susan 77760 |Mar25 Operating expenses 12300
! Mar 31 Carriage inwards 7% ;gg
3 520 Mar3] B 800
lance ¢/ e A e
18 50095 189 alance c/d 701850095180
Jacky C
U In ompany
il come statement for the month ended 31 March 2021
$ $
gales ) (220 x 855) + (1 800
Less: Returns inwards (300 x $54) x84 1?2 3;_?,?,
Less: Cost of goods sold 93 100
Opening inventory -
Add: Purchases [$14 400 + ($36 x 2 -
0
Add: Carriage inwards 00x95%)] 8; igg
Shssoe s 102 000
Less: Closing inventory ($102 000 x 1 280/3 000) (Working 1) 43520 58480
Gross profit 34 620
Add: Discounts received 40
34 660
Less: Expenses
Operating expenses ($12 300 + $1 000) 13 300
Discounts allowed 3520 16820
Net profit 17 840
Working 1:

{r

g0

Closing inventory quantity = 550 + (450 + 2 000) - (220 + 1 800 - 300) = 1 280 units

Unit cost (Weighted average cost method) = ($16 500 + $14 400 + $68 400 + $2 700) / (550 + 450 + 2 000)
=$102 000 / 3 000 = $34 per unit

Closing inventory = 1 280 units x $34 per unit = $43 520
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el nouel| guprchunes for dhe youw endold 31 Miarch 293 o
w_nﬁ%m i gurrchpae \}“*‘ )
v of ety anitg g3 . 4 Gopy 104 g
WIMWfll\lmugu[m.-jum‘ 2 iy ___g‘!!! :
142 vog
L Comming Trvemage, 2 000
Pumtianes for the segr 2021 Tl..\} :j
e —___ Trade puvadies —— 0)
L S
Reni 80 0 sf Balmce bid 16 00g .
Pslance ¢ /g 26 280 | ___133\
106 600 | — 600
@
Statement 10 calculate the working capital as at 31 March 2021 ———
——— g
Inventory 38 009 0.5
Trade receivables 41 089 0.5
Bank ($335 900 « 298 000 - $80 000 . 5150 000) 123900 '
Cash [$49 600 - (5120 800 x 0.25)) 19400
Total current assety 322380
Less: Current liabilities
Trade payables 2: igg 05
Accrued rental expenses e 0.5
R e = 0.
Working capital as at 31 March 202 488 600 5
@)
e
12 marks
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1 §1 060 000 - (S
‘1K X [ (84 x 24 §
Yy [5460 000 - ($3 x 129 go%‘;(’)i 100 000 gf;
Z [$140 000 - (S2 x 20 000,]] 100 000 0.5
Total indirect labour cog 100000 _ 0.5
300000
Fixed manufacturing overh
@@ D) cads to be allocated: S
X (5456 000 40 000 : 0.5
: X 380000 288 000
Y (5456000 x —120000 v
( X 30000 144 000
Z ($456 000 20 000 0.5
: * 380000 ) b
3) Unit variable manufacturin .
(8)( % (8480 000 - $288 000) g overheads: " 0.5
240 000 units S0 Bt
(8390 000 - $144 000 : 0.5
Y )
120 000 units S0t
($80 000 - $24 000) . 0.5
Z 77720 000 units Szt
%
(b)(1) Un.it.contril?utior. I{larg.in of Product X if the proposal is accepted: $
Original unit contribution margin of Product X 2.7 0.5
Reduction in sales revenue per unit 0.2) 0.5
Increase in direct labour cost per unit 0.04 02
2.46 0.5
@
(b)(2) Statement to calculate the total profits or losses for the coming quarter
$ $
Total contribution margins of X and Y ($2.46 x 250 000) + ($2.45 x 120 000) 909 000 1.5
=615 000 + 294 000
Less: Fixed cost
Fixed labour cost ($300 000 - $36 000) 264 000 1
Fixed manufacturing overheads [$456 000 - ($24 000 x 38%)] 446 880 710 880 1
Total profits after discontinuation of Z 198 120 0.5
@
Che pr posal should not be accepted as the resulting total profit ($198 120) would be lower than )
* the total profit eamed with the production of Z ($270 000).
12 marks
ﬂ=_i“

N6

Marks
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SECTION C

QUESTION 7 y
» Limit 20
i HO"’;::;.ded 31 December 20 S
\&A m[tincl“ for lhc s
Income 066 s
Sales (54 080 000 - $45 000 * 30%)
119 000
" 2 729 000
Less: Cost of goods sold =222 200
o ces (52 736 000 - 70  100) & ko0
: 109/,40)
’ i ntory 000x30%> 71
(5135 000- [532 000.(526 200-82 200) (845 20027194,
-5 7000} 1347 504
Gross profit
' 24 000
]&_&g,‘ EEQCDSCS
Debenture interest ($300 000 x 8%) 360 000
Rent and rates ;(9)(1) (6)83
Salari o
D?c:':f:?ation - office equipment [($1 970 000 - $962 000) x 20%]
D iation - motor vans 8/.) +
[(5980 000 - $180 000 - $160 000) x 25% + (§180 000 x 25% * */12) 200 000
$160 000 x 25% x ¥/y3)] 2
IEoss on disposal of motor van [$180 000 - ($180 000 x 25% * 3 %/12)] 37500 g ;3 100
Net profit %
(®0Q)
Statement to calculate the retained profits as at 31 December 2020
$
Retained profits, | January 2020 5 46$0 00
Add:  Profit for the year 334 409
—=34 400
Less: 2019 final dividend 220 000 880 409
2020 interim dividend 150 000
Transfer to general reserve 100 000
Retained profits, 31 December 2029 :70 000
10
— 41040,

4]

(3)

05

05

05
05

)



o SﬂON 7 (con't)
¢
o

Marks

S

Asse Ncial Sition as g N o 3000
;ﬂnf, uipment ($962 00 + Cost  Accumulated  Net book

Sm  vans (8528 000 + 8209 30 l 200) ; dcprcci;lion valsuc
- ]4
2 500) 1970000 1163600 806400 0.5
t _800000 _ s8ss00 214500 |
1 25518 2770000 1749100 1020900
Inveﬂm — S—

ry
der receivables [$1 577 00 .
"X (5424 000 + $36 500) (845000 x 399,

- 129 000 0.5
Bl ases ) 336 s00) 1 527000 !
650 0.5
Eq“"y and liabilities 460 500 3__113_7_599
3137500
g ordinary share capital ($1 400 000 4+ §
Remmed profits 50 000)
general reserves (8150 000 + §109 000) 1550000 0.5
410 400 0.5
250 000 0.5
Current liabilities 2210400
Trade payables ($598 000 - $70 x 100
accrued debenture interest )
Application monies for ordinary she 591 000 0.5
895 debentures i 6 000 0.5
Total equity and liabilities 30000 0.5
300000 927 000 0.5
3137400
M
No. As the final dividend wa,
e d !
dividend at the end of 2020, $ declared in 2021, 5o there is no obligation for the company to pay th 2
e
20 marks

0




i
JTION # Current socount m
o M sg Wy
) JER— \\-‘;wns s wid 132009 $
I i ce : i
219 L ?;La:onﬁ””""’ m'cm'roﬁﬁfl(l&l) 15 sy B 00g
pstance b'd 000 800 Appmpf"“'j"": == 0 1 :3 o
s 5 ¢/l 3
e gl | e
y  dotere m '
(4
, d 31 December 2019
Working 1: Appropriation account for the year ende N
83 [)00
$90 000 - 52 000) A0
Nc; plrsilr crflr ;:cdyrzaﬁgs - Wong (§150 000 x5 05/%;( );;jl)?) 800 5 809
. 2
Ad -Wu  (§96 000 x 5% x % Ty
. 48 000
ital - Wong ($800 000 x 6% 18 000
Less: Interest on capita ) $300 000 x 6%) 66 000
Wu ( %
Share of profits: 13 99
Wong 13 909
Wo 2181?
(b) Capital account
Wong Wu Chau Wong Wu Cha
$ $ $ $ $ 5
0.5 Capital: goodwill 60000 60000 40 000|Balance b/d 800 000 300 gog
0.5 Balance c/d 874350 374350 400 000| Capital: goodwill 80000 80 g 0.5
ggaluatio_n: profit (W2) 54350 54359 °i5
Ce equipment 1
Bank (Balancing figure) 2;3 ggg 0.5
934350 434350 440000 934350 434350 449 000 5
—q\
(@)
Working 2:

Revaluation account

Allowance for doubtful accounts

(315000 x 29%)

Cap_ita[ - Wong: revaluatjop profit (1)
Capital - Wy: revaluation profjt (*2)

6 300 | Office equipment

(81 005 009 - $890 000) 113 0

54 350
34 350

115 000
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g (con't) Barts
(7 080 evaluation reflects the faj
& gt getre * the fair valye of
). B ing parncrs are entitled to pey oo CoCS , dmission
. f,mu pew partner 10 ascertain thegir c:;:-?g]s"a"c of the net assets of the partnership upo™ &
ks for cach reason, max 2 marks) account balances
¢ m
) /—wn account e
office equipmen 800 000 Bank: office equipment B
e L bres 168 000 ($800 000 x 84% - $32 000) 00000 05
1| 1rade T " - realisati 340 000 | Bank: inv : 3
capi“" . Chau: realisation expenses 3600 Capillal é;‘llﬂr-y. 54 000 -5
05 i - Chau: lpventory 131 600 -5
ank: trade receivables 5000 g
Tsl'ade payables: discounts received
(8250 000 x 40% x 5%) 875
Capital -~ Wong: loss on realisation(*/s) g; 875 1
Capital - Wu: loss on realisation (3"'!2) 45250
— | Capital - Chau: loss on realisation (*/s) —211 600
1311600 13110
e = |
@ Capital account N o
/-_———_ Wgng Wu Chau Won g Wu Chau
$ $ $ $
current (W3) chory 241150 33 500 | Balance b/d 874350 374350 400000 gg
Realisation: inve , 54 000 | Current (W3 63 650 :
0 pealisation: 1oss 67875 67875 45250 Rcalisati(on . 3600 03
0-5 Bank 870125 65325 270850
I 938 000 374 350 403 600 938 000 374350 403 600
Q)
king 3:
Working Current account
200 Wong ~ Wu  Chau [2020 Wong  Wu Chau
$ $ $ $ $ $
Balance b/d (from a) 115 900 Balance b/d (froma) 188 900
Appropriation: Appropriation:
share of loss partner’s salary 50000
(5284 000 + $50000) 125250 125250 83500
Captal 63 650 Capital 241150 33 500
188 900 241150 83 500 188900 241150 83 500
20 marks
End of Paper 2A
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paper 2B

dule
ement MO
anillcss Manag
Ma
GpCTION A 6"“
. N1
ol £STIO & gl make human resources
- f a
Ve 1" performence 10 EVC _
O e sreoss B Pt - ove sellingtechnies
" gecisions. €8 promotior enrich prodoct knowledge, U_'“F < e.g. improve understanding
identifies 2ining neods, €& tanding of the company”® goals, -
jnsurance 8genIs UD »5 gverall objectives
mhﬂn“s Bnd COfnpzn) g0V J]
Or‘}dmh objective, max- 6 marks) %
(2 marks 10F €5
Mal‘ks
2
ON2
(Q;J B Gconomic Order Quantity:
a
2 x 1200 x 600
25
= 240 cartons
iables: & the order to the delivery of milk to 2
® ¥ tead time: the number of days it takes from placing the ©
the manufacturer . th unexpected situations 2
. __—“'—-—-______
safety stock: the amount of milk kept to cope with unexp 6 marky
-—-——-__._-.-
Marks
QUEST[ON 3
ling: . :
(a) Persm;:: ::;;:Si s promote products to customers through personal presentations in order to 2
make sales
; 4
es: . ;
¢) fdva;tzgles salespersons to explain product information to customers and_ obtain feedback
directly, so as to provide customised services to satisfy customers’ partlc-ular nef:',ds
- facilitat:‘:s the building of customer relationships through personal interaction and
communication, eNcouraging customers to develop a preference for the product
(2 marks for each advantage, max. 4 marks) G-
6 marks
QUESTION 4 _ Marks
(@) concentrated marketing 1
Disadvantage:
- involves higher risks as the company’s revenue relies heavily on one small market
segment
()  Possible causes: 4
- unpredictable decrease in market demand: e.g. entry of competitors, poor business
environment
- inefficiency of sales forces, sales channels cannot perform effectively due to a change
in environment
- too optimistic/over-estimation of the sales quantity when budgeting
(2 marks for each possible cause, max. 4 marks)
6 marks
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1
Il 4 ;
’ -rlﬂ?" 5 Marks
1
g .
y (i) stratified random sampling. 2
) ¢.g- PACNIS are divigey . ing to the
( age/gender of thejr Chi]dre]:m dsc\era] Mutually exclusive groups eccording
and randor samples are drawn from each group
(ii) Olhersan;plmg technigyes. 2
~  random samplipp. : in
selected 8 every parent in the population has an equal chance e
~  convenience samping. . their
casy accessibiliy NE: parents are selected from the population because of
(2 marks for each technique, max. 2 m arks)
- penetration pricing Strategy :
® _  t capture market share quickly 1
0 - liability insurance 1
¢ _  tocover losses aris; —_ 1
S arising from injurieg 1, children when playing with the toy cars
@ Y eopte 4
= e isli :
peop _ll)‘l_erently dislike work/people have little ambition and try to avoid
responsibility/people want stability and resjst hange: e.¢. define job duties and sCOpe
of the salespeople clearly PHAIERER- Befine o
- people prefer monetary rewards: g 7 efits of
salespeople with g06d performanzé €.8. Increase the pay and fringe ben
e or vy § i PP s e
© (i)  Netpresent value:$ 1 2
000 000 $1 000 000 1 000 000 $1 000 000
(-83 500 000 + 22209000 $10
1.04 02 T s T e )
=$129 895
(i)  Non-financial factors: 4
—  marketing: e.g. acceptance from existing customers/ability to attract new
customers
—  human resources: e.g. availability of experienced staffto set up and operate the
e-shop
—  information management: system security and capacity, e.g. hacking of
customer database and system breakdown
—  operations: e.g. availability and security of various online payment methods,
stockout risk
(2 marks for each non-financial factor, max. 4 marks)
18 marks
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ESTI Ma,
ON 6 ) ks
= -S!?O.’($50+Sl6)=2.58 times
@ O total assets tumover (2020): 5
; ould i ly, but sales woy]
; ture, would increase greatly, uld noq
(ii) total assets, including f_':xmres and fumi ;
increase in proportion instantly
(v)  Reasons: atch the time frame of the project, €.2. short-term loan is not suitable as re- inancing 4
- tom
iﬂaxﬁfa"liff ;idnancial burden, ¢.g. regular repayment of principal and interest could pe
avoided by equity financing
(2 marks for each reason, max. 4 marks)
Benefits: ‘
(c) _c more promotional channels, e.g. invite KOLs to demonstrate the use of the electronjc 4
cooking plate on different social platforms to strengthen brand reputation
- increase service availability/round-the-clock operations, ¢.g. customers can place orderg
via KOLs’ websites at any time ) ) .
- better customer relationships, e.g. customer interaction with KOLs could enhance
communication and facilitate the collection of customer feedback
(2 marks for each benefit, max. 4 marks)
(d)  Disadvantages:
—  lower morale
- the new senior manager needs time to adapt to the organisational culture and bujlg up
working relationships with existing staff
- time-consuming and costly to find suitable candidates
(2 marks for each disadvantage, max. 4 marks)
(e)  Advantages:

—  wider networking and more sources of candidates
—  provide professional advice on the hiring process
(2 marks for each advantage, max. 2 marks)

L i~
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- employee relmtion, g S

nmhfnrﬂchhmmrmfmﬁ”mn ,

]
!

L D S — — Bample ______—
wbcnalﬂldcrnmdmew,“‘o,, immmm;!
requirements  of existing customers for the 21 10 respond 1o their individual pesds prompt
formulation  of  approprise marketing
strategics e
to enhance the loyalty of existing customers increase bomding by offerng mernhershr;;

schemes higher rebates for longer contract term
/To facilitate cross-selling and up-selling ! sportswear/outfits, gymnastic equipment
throuph existing | referral scheme
20 marks

! lo atract new customers

customers
(3 marks for each objective, max. § marks)
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w' L
oUERTI M'r;‘
smmission to the retail chain
y Fnors p—— wrangihet and o )
’ ey b - ;“U:.::;:; e company wests W0 beve Grow control of the sales o, 12
ﬁuﬂﬂ'\'" o u h -
arice oof prodact i o vide professi .
{‘m‘_m"::‘ﬂ r:vmf:“m'\ - shether l?:; Cﬂhﬂl"m} wants pro p ional advice "
G ' : & sk directly ) E
omevmers and oollect their foodback ? : with its potential cus
:r:xmma hase, ¢ whether the compEny has connections pos tomers, wh,, they
it branches in person ——
cuptomert p.":'l'c:r vigiting the ; il c bk
pypilebility of pxpertise, €€ whether the company has an expen €am to sey) and
explrin product fezrures 10 castomers
(3 marks for ench factor, max. 12 marks)
fTicient capital to back up its debt, e.g. whethe, " .
[

(®)

Credit standard:
he company has su
as the ability to meet its obligations, e.g. whether the cash

~  capital: whether t
company's gearing ratio is too hi
secure the debt, e.g. premises
to act as

- capacity: whether the company h
flow of the company is sufficient
collateral: whether the company has sufficient assets to
security for the loan
character: whether the company has a sense of responsibility with regard to repaying the deby
environment is favourable to the industry , i
¥ ‘B

e.g. credit history of the company
~  condition: whether the general cconomic
unemployment ratc may affect consumers’ buying behaviour

(2 marks for each point, max. 8 marks)

END OF PAPER 2B
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Clndidll_ul "rrf : -
idsten sat the Business 4 orm

g . sdnten (home
la Nl“’d,‘ngModulc:ndrh-_-nm, ing 3. 20 Finncis) Saudies exnminstion this year: 6 479 cund 44
Fhy ;ﬁ,ﬁc: sst the English papers 778 2 362 choge ghe g’.f,;,, _'M,T;.mt;-:mm Approwimasely $6%
2 of l
r‘f’(r
gectio”
ere 30 multiple-choice question,
v mm"mm.mwm‘“umofmm
- atage correct was lower in the followmg Questions
which of the following statem,
I 1S about the World Trade Organization is/are correct?
1 It enforces the rujes of internationaj
) It hclp.? developing countries il_'G'na tradc_among members.
() It eliminates trade barriers am‘):;-‘:mu;trrshdhg opportunities.
A. (1) only 11%
B. (1) and (2) only* El'l%;
C. (2) and (3) only (23%)
D (1), (2) and (3) (49%)
rld Trade Organization lowers, i P
The Wo instead of eliminating trade barriers among members.
1 February 2021, Mr ;
tf:: ot o e mottes b I(-:’f:ds;ft;g r: ;e:a:l f-;l.'m selling computers. On the same day, the firm pumhase;’,-
damaged computers were returned to theupp ler at a cost of $4 500 each. During February, two sets 0
of $7 000 each. supplier and three sets of computers were sold at a selling price
t is the balance of th )
Wha € purchases account of the firm as at 28 February 20217
A. $22 500 (16%)
B. $31 500 (5%)
C $36 000 (46%)
D. $45 000* (33%)

The purchases account only records the cost of goods purchased. Returns outwards and sales are separately
recorded in other accounts.
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- . a - < - - eCl
1 !l T S1E il m“_l sl !l l'ﬂ!&}}l:f 1sanre coIr 7
1] Wi of the wlowing tLomeY

errors in the account balances.

! balance agrees, there are no
in If the ?:,,11:“ shows all the account b;!mccs ofa ﬁrml.! .
{2) The mi the debit side of an account 1S smaller than the credit side, the accouny
(1) If the total of the ! ial balance. lang, .
shown in the credit column of a trial ba %
; Al (1) only -
B (2) only (43;1.)
C. (1) and (3) only (79:)
D. (2) and (3) only* (360/3

i i i unt balances, €.g. an error on ope .
sven if the trial balance agrees, there may still be errors in the acco 8. a ne side
,:;-,‘,;;mcarcd by an error of the same amount on the other side. If the tt?lal of the c_leb:r side of an account jg ::l?y be
than the credit side, the account has a credit balance, which is shown in the credit column of the tria] b&'ﬂncea"er

1S. Which of the following about the statement of financial position is/are correct?
(1) It reveals the liquidity of a firm.
(2) Non-current assets are listed according to their total amounts in descending order.
3 It reveals the financial status of a firm for a period of time.
A. (1) only*
B.  (2)only (2%,
C. (1) and (3) only (3%)
D. (2) and (3) only (66%)
(9%)

The statement of financial position shows the balances of assets, capital and liabilities of a firm at 5 Certaj
0 time

company’s information manager to the marketing managervfonqwm
() process data about the frozen food m i
‘ 0 arket in Ho
) collect information about suppliers of freezing s;s%elr(nzng
(3) set up a salary scheme for the salespersons
A (1) only*
B. (1) and (2) only
280
C (2)and (3) only &SS)
D. (I),2)and 3) (2';;
0
(5%)




Performance in General

o e =

rpornzion.

Very g

ood . s atjional co
& Many candidates were able 1o explain that usiness is a multination

theb

of ownership. Som -andidates did not make a comparison of the disadvantages
) vd characteristics of a public limited company-

(ii) _Poor. Most candidates

: ake
fai p d help investors m
Investment decisjons, § P4 ey explain how the Hang Seng Index coul

Hang Seng Index reflected

Fair. Most candidates
price of the real estate
for the increase in sh
scenario,

; i share
were able to state that the new policy would lead t9 an mcrealse. ":htgieason
dew:llop ment company. However, many of them failed to exp a:i?or the case
are price with reference to the background of the company an

Poor. Some candidates wron

. " o ré
: gly listed out the responsibilities, instead of the rights of the sha
vestors.

Good. Many candidates were able to prepare the two nominal accounts and complete the dc])lul;]I:
entries. However, some candidates failed to identify the nominal accounts and prepared all t
corresponding accounts listed in the bank account.,

Satisfactory. Many candidates were able to calculate the overdraft balance of the bank account.
However, some of them classified the bank overdraft balance as a current asset 1.nstead.<_)f a
current liability. Some candidates showed the other parts of the statement of financial position,
which was not required by the question.

Satisfactory. Most candidates were able to state the business entity concept as answer. However,
some of them failed to explain the meaning of the concept with reference to the case context.
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® ©0

(if)

s5(A) (@)

(®)

(B)

@@
(ii)

1%

-yt the working capital ratio and

able 10 ™o t the figures i ac
ycendi L gaes filed to present the IBUres in the g, °
Good- MY ver, s0m€ € decimals:
qest ratio- H “i‘anS\ er to WO dect
le or LY P
. t the two ratios were hj
oint out a igh
were able 0 P Girm would be able to meet its SEO::I an

verages 80 odidates mentioned the large difference betwc?m
v Cca that there wefe current assets tjeq \ e;:n
the ratios with the casual rule of

thyroy
n in the question. humt,

co 1
€ justry averages BV

ain the advantages of adopting unity
of

; iled to expl .
idates faile me candidates just explaip i
e

poor. Many cand =4
direction with reference to the casé scenario. S

the benefits from the view of the staff.

Very good. Many candidates were able to prepare the income Statemen

arrive at the net profit figure comrectly. However, some candidateg fail a
present the income statement in 2 pl.'oper fonn_at. Proper indica‘[i ed
subtraction of certain items was not seen in some scripts.

On of

Fair. Some candidates were able to explain one use to the governm
income statement of a business. SNt of the

Poor. Only a few candidates were able to draw the i

: . : ] organisati

business. Most candidates failed to provide a proper title for th 10n chart of the
three department managers. € Superior of the

g I'.

Poor. While ma: i
manager exercis?; ;Znﬁ;iazejt]:v ere able to explain how the hy
: : ority, ; ma
explanations regarding its staff auth):)r;nany of them failed to . ‘:lpresourceS
€
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(Accounting .‘\lndulq
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rapc

<ection A

L.
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Number Performance in General

Satisfactory, Mog candidates provided correct answers for
did not show the rental income jn

OWing (item L) 4 bal

: e
alt with by som

; s (items F ang M) at year end were not properly de

candidates,

. ividend income,
Good. Most Candidates were gp)e to update the cash at bank accoum,‘w.llzddf{l:wcvcr, many
elecr_ricity Expenses, bank €harges and the credit transfer from Sunny Limi cz-lndida:cs did not
candidates fajjeq to credit the Post-dated cheque of Fanny Company. Some s at 31 December
notice that the origjng) balance carried down of the cash at bank a_t:courlld:l bit balance in the
2020 was a credj balance, j.e. apn overdraft, and wrongly showed it as a d¢ ccount names as
updated cash at bank accayuny. Some candidates failed to use the correct a
descriptions of the Postings in the cash at bank account.

’ — ent correctly.
Satisfactory, Many candidates were able to prepare the bank reconciliation ;[2::[:5 it
However, some candidates confysegd ‘unpresented cheque’ with ‘uncredited dep

Fair. Many candidates fajleq ¢
accounting principle for the sc
concept’ as thejr g
revenue should be

nt
o identify the ‘realisation principle’ as the m°st .r::;‘;.ﬁa;
enario. While some candidates wrongly _statcd : el in that
nswer, others stated the appropriate principle but failed to expla
recognised only after the services have been provided.

Satisfactory. Most candidates were able to identify direct material costs and direct labour COStch
as production costs as wel] as variable costs, However, some candidates mls}akenly tTeated
selling expenses as production costs. While some candidates wrongly included ﬁxe

manufacturing overhead costs in the calculation of contribution margin, others were elt_hTr
unable to apply the sales mix ratio in the computation of contribution margin for multiple

products or wrongly worked out the contribution margin per unit instead of the contribution
margin per sales mix.

Poor. Many candidates failed to determine the contribution margin and sales quanti_ty required
to break even for surfboards when the sales quantity for kayaks and.paddles were given. Some
candidates wrongly computed the breakeven point at product level instead of company level.

air. Many candidates were able to include the target profit in the calculation. However, they

F
failed to determine the contribution margin required to achieve the target profit for kayaks and
paddles when the sales quantity of surfboards was known,

54




R ! Performance n Genera)
j‘ Payuilarty
g ]
Dty J )
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e,
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o eredil porcheses and credit sales.

40% Satisfactory. M’ost candidates were able to record

Poor. Most candidates failed to find out the total amgy,

of ur,
sactions that took p]acepberi'v’ases. Somc
ive at the closing inventory as at 3, cen

h, gt 1 Aprj;
generally weak jn Presenting their answers jn Statemeng form, andldates Werg
Sarisfacrory. Most candidates were able to record the 8enery)
the trade payapjes account. transa“i‘)ns i

€lves tg [ice: 8ureg
the calculatjon of working capita). - hst"‘g the

le to incorporate the chy i
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€ the reviseq direct laboyr cost and selling pric;e
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(2) o calculate the ‘

s — t
};’lr,_ Mot candidates were able 1o show the zppropTI2ic e
closing balance of the retained profits in a statement form.

s sition
oL Poor. Many candidates were able to prepare the statement of financial post

i redit
i the proper format However, many candidates failed 10 Mﬂf‘f‘t::\r:l; date
transfer from a customer pI'OPCT'iy. Some candidates ignored the m nt liability.
of the debenture and mistakenly listed the debenture 2s @ OGRS

(b) d be

Poor. Most candidates failed to explain whether the final dividend shou
recorded as a liability of 2020.

) 5 2 i st
8 o Lo Poor. Many candidates were able to calculate the interest on drawings, intere

on capital and share of profit accurately, but they failed to use proper account
names (i.c. appropriation) to describe these items in the current account. Some
candidates mistakenly treated the unpaid interest on Wu's loan as an
appropriation of profit and recorded it in Wu's current account.

(b)

Good. Many candidates were able to handle the treatment of goodwill properly,
but some candidates failed to calculate the profit on revaluation accurately.

(c) Poor. Most candidates failed to point out the reason for asset revaluation upon
the admission of a new parmer.

(d) Satisfactory. Many candidates were able to use correct account names as
descriptions for the accounting entries in the realisation account. Some
candidates did not record the realisation expense in Chau’s capital account
since they ignored that Chau paid the expense on behalf of the partnership.

(e) Poor. Many candidates failed to transfer the correct balances of the current
accounts to the capital accounts upon dissolution of the partnership.

General comments and suggestions

Candidates are expected to possess a broad understanding of the topics in the curriculum and be able to give
appropriate answers based on the scenarios given in the questions. Appropriate account names should be used to
describe entries in the accounts and answers should be presented in accordance with the requircments of the
questions. Candidates should show workings in their answers so that they can get some step marks even if the
final answer is wrong.
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cornPa“)”
¢ candidate® were able 10 identify the tYPE of target marketing strate
) snnsfﬂ‘“’ry‘a s andidates failed t0 state the disadvantage of concentrated marketing th atgl_’ :
O H"“‘"’f},ﬂls 11 mark : segmen .
ies ©
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Sarisf; ) "
Hitalory Many candidames were able <5 other than parents for

technique, though some candidates wrongly
daia collection
‘ ) st with @
Sal‘ufacr:ory. Many candidates were able to give ’ e
valid objective as their answer. =
) some
Poor. Many candidates failed to state the correct type of ins ey

of them were able to explain the purpose of taking out an insurance.
morale of the

Fair. Some candidates faj { i ve the
iled 1o suggest ways to Impro ]
salespersons with reference to Lheg%hamcteristics of Theory X. Tclc;cy =
quoted from the case the reasons why the employees were dissatisfied.
Fair. Many candidates failed to calculate the net present value of the p;_rg:l:
correctly when the cash flows are generated bi-annually, though some 0
were able to show the discounting process.
Poor. Many candidates wrongly gave external environmental factors as I?‘CIT
answers. Some candidates explained the advantages of setting up the e-shop

without considering from the perspective of key business functions.

Fair. Many candidates did not understand the meaning of total assets turnover
and failed to calculate the ratio correctly.

Poor. Many candidates did not understand the meaning of total assets turnover
and so they were not able to explain why the ratio would drop in the case
scenario.

Fair. Many candidates explained ‘time frame’ and ‘interest burden’ as the
reasons to support the suggestion of sourcing the funds in other ways.
However, some of their explanation was unclear and inaccurate.

Poor. Some candidates were able to explain the benefits of e-marketing
generally, e.g. more promotion opportunities and no time constraints.
However, many candidates failed to link the explanation to key opinion leaders

as stated in the case.

Satisfactory. Most candidates were able to explain the disadvantages of
recruiting the senior manager externally.

Poor. Some candidates were able to give an advantage of recruiting the senior
manager via a headhunter, but many of them only provided the benefits of

external recruitment.
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Marking Schemes

l

| T Suonmrng vy P"“mhwﬂrﬂm tr;u‘uvﬂ' rederencn. 1t shondd mot be regarded as , set o

i L T MY @M sy st dnvebund B (e marking process are advised to '"‘l‘rp..‘. m
L i

LS

t "l th
———————

e

General Notes on Marking

4 - 3
Tenchery pry ronely ndvised 1

condnc thedr oan internel standandisation procedures usin
before the nevys muricin

£ boging Afer sendardisation, teachers should adhere to the

N Mgy
Markin |
eyt foareny 2anderg crf'mmhng winthin the school ' sch""‘ loge:‘\%
Y
) L}
. The marking scheme may not exhans al] possible answers for each question. Teachery ¢ q
professiona] discretion and jodgment in accepting alternative answers that are not in the Markin c’“”cih 5
correct and wel] reasoned B ”chtme b u'"ir |
u :
1. In questions asking for a specified number of reasons or examples etc., if a student gives more ,
number, th'c ©Xtra answers should not be marked. For instance, in a question asking Studenyg la er“]ui
examples, if a studen gives three, only the first two should be marked. ° Pftwide t::d
)
4. The general guidelines for answers which are awarded 0 to 3 marks each are as follows:
0 marks irrelevant or ambiguous answer
I mark relevant phrases containing key words that answer the question
2/ 3 marks a relevant point or answer with a brief explanation of the concept/key ,,
illustration of how it is related to the given scenario Ords an%r
PAPER 1
SECTION A
Question No. Key Question No. Key
1. B (17%) 16, B (70%)
2: D (30%) 17. B (55%)
3. C (56%) 18. A (55%)
4, C (40%) 19. D (42%)
5. B (44%) 20. A (65%)
6. D (33%) 21, D (78%)
T D (63%) 22, D (80%)
8. C (78%) 23, B (67%)
9. C (55%) 24, D (78%)
10. B (46%) 25. C (55%)
11, B (74%) 26. C (60%)
12. C (69%) 27. C (48%)
13. D (36%) 28. A (28%)
14, A (52%) 29, B (67%)
15. A (22%) 30. A (56%)
Note:

Figures in brackets indicate the percentage of candidates choosing the correct answers.
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i
v !
4 !
4
l 4
g Sreholdery =2y lose control of the
. & Tiease of foumia mformation, compliance
bdll]‘ = ve Oy
2 e i ‘
(2 mari, O each, duid\m-:aa ) lting, Moounting listing and selup
1 ‘_.E’
Max_ 4 mm—h)

T marks !

QUESTION 2
@ @ itreflecy the o
ong hareg listed on the Stock Exchangc of Hong !
(i) Ways: -—b Mﬂkb Mt hr\l/\.\* A Cufv
- assess the geq%mma“ ——'k
development Sector e R s e m et
- Compg the Performap, Nce of aal
evelopment ect OF over time
1 mark for each w

0 gjtock market/real estate

“"Tf? Wl oy o i
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ate of hotels wil} i InCrease,
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” the share Price wil} rise

L 71
T J
-énure and will buy its shares
Wbl

\ % * — ' V A P"? p
Ieceiv ts, &.g. statements showmg the investment ansacti
-, receive a dividen@e board of dirgerorer
M . vote in annual'Eﬁf

Lrectors has declareq a dw:dend
eral mee ng
1 mar®Tor each




CLUERTION 3

(™
Remtal cxpenses Sy

T :
Age 3 Bas, 37000
Sales - aae
2021 _ 150
()
Jeffery ;
Statement of financial position as at 30 A ril 2021 (extract) <
Current liabilities
Bank (overdraft) £.000 '
{c) - business entity concept . :
a business is an entity separate from its owner(s), the private transactions of the owner(s) 1
should not be recorded in the books of the business
g
PART 2
QUESTION 4 Marj,
(A)
(a) (i) working capital ratio j
= [(520 000 + $50 000 + $180 000 + $120 000) / (§30 000 + §100000)] : 1
=2.85:1 _ . 1
(ii) acid test ratio
= [($20 000 + $50 000 + $120 000) / ($30 000 -+ $100 000)] : 1
=1.46:1 1
(b) both the working capital ratio and acid test ratio of Chan Kee were higher than the industry 1
average and the working capital ratio was much higher than its acid test ratio
Chan Kee: ’ T e 2
- has greater ablhty to meet short-term obllgatwns/has sufﬁclent short-term assets to
repay short-term liabilities
- has a higher proportion of current assets tied up in mventory .
(lmarkforeach comment, max. Zmarks) s =y Ay
®) - P s
) @ unity of direction - ; ‘ 1

(ii) Advantages:
: . creates coherence among employees to-achieve the same objectives effectively

- avoids conflicts and confusion among departments as all departments are working

towards the same goal
- -builds.up team spirit, which enhances morale
(2 marks for each advantage, max. 4 marks)

10 marks_
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Marks
:\'%p\» ron M7 Wi 0.5
Loss: Retury,, inwarg e g e rrcomes, nded 30 April 2021 3 5
(3 1]
Leas: Cog o 103 m 05
Purchage, — i
Lexs: o s 102 000
Gross prof & MVentor, 0.5
Add: Ducou;", "‘fclhred 1: ggg 62 000 0.5
——18 OO 0s
40 000
Carr, ° L S
Sun d‘age OUtwarg, 40 800
Y €Xpenses
Net profie 1300
Use ofincomc s

0.5
23 475 24775 0.5
talcmcn 5
Bovernme, ass“;'
in the income

16 025 0.5
= (5)
S the
Slﬂtement ta

Production
Manager

@ @
i -

10 marks

END OF PAPER 1
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